Hi KOKI]
CORDLESS GRASS TRIMMER/BRUSH CUTTER CG3

17/

Item No.

Code No.

Description

No. Used

Remarks

6601339

HEX. SOCKET HD. BOLT (W/SP.WASHER) M5X22

1

305574

HEX. SOCKET HD. BOLT (W/SP.WASHER) M5X16

1

328643

TAPPING SCREW (W/FLANGE) D4X23 (BLACK)

[y
o

379350

MV _LABEL (B) (2)

380100

HOUSING (A).(B) SET

378666

HEX. SOCKET HD. BOLT (W/SP.WASHER) M5X22

NAME PLATE

380112

PIPE HOLDER

OO |N|O 0|~ WIN (-

380113

BEARING HOLDER

[y
o

361221

ROTOR

*11

341163

WIRING ASS"Y

INCLUD.12,13 FOR AUS (L),NZL (L)

*12

380104

SWITCH PANEL CABLE

FOR MODEL (L)

13

379931

BATTERY TERMINAL

14

379349

MV LABEL (A) (2)

15

380099

TAPPING SCREW (W/FLANGE) D3X12

16

373311

CORD CLIP

*17

380116

INTERNAL WIRE (EMC)

FOR AUS,NZL,EUROPE

18

380114

FRONT COVER (A).(B) SET

20

335752

LOCK LEVER

21

380107

TAPPING SCREW D3X12

24

339250

TAPPING SCREW (W/FLANGE) D4X20

25

335239

LEVER

26

380106

TRIGGER SPRING

*29

949556

NUT M6 (10 PCS.)

FOR MODEL (L)

*30

6696975

LOOP HANDLE

FOR MODEL (L)

*31

6696973

BARRIER

FOR MODEL (L)

*32

6696974

BOLT (BLACK) M6

FOR MODEL (L)

33

6699439

GEAR CASE ASS"Y (4BB)

INCLUD.34-43

34

6600005

CAP

35

6600006

SPRING

36

6684737

BOLT (W/PLUS) M6X8

37

6600007

LOCK PIN

38

6699441

CUTTER HOLDER (A)

39

6698659

CUTTER HOLDER (B)

40

6699188

NUT COVER

41

335759

U-NUT (LEFT HAND) M10

42

6695414

SCREW 5X12/W.S

43

949664

HEX. SOCKET HD. BOLT M5X30 (10 PCS.)

*44

6601432

NYLON HEAD ASS"Y

INCLUD.45-49 EXCEPT FOR EUROPE

*45

6698795

SET SCREW

EXCEPT FOR EURQOPE

*46

6698796

REEL

EXCEPT FOR EUROPE

*47

6698797

RETURN SPRING

EXCEPT FOR EURQOPE

*48

6698798

BUTTON

EXCEPT FOR EURQOPE

*49

6698799

CORD GUIDE

EXCEPT FOR EURQOPE

*54

6684714

HEX. HOLE BUTTON BOLT M6X25

FOR MODEL (L)

55

66A4598

HANGER ASS"Y

*58

380115

HANDLE (A).(B) SET

FOR MODEL (L)

59

377257

DRIVE SHAFT

*60

377256

MAIN PIPE

EXCEPT FOR EURQOPE

61

6699443

COVER BRACKET

62

CAUTION LABEL (B)

*64

6600446

LEVEL MARK (B)

FOR MODEL (L)

65

380102

GUARD (EU)

[ Ll L L e [ L L D L T e e T e T e e T R N R R N R N R N N R N N N R R N N N N N R R R T N

* ALTERNATIVE PARTS




Hi KOKI]
CORDLESS GRASS TRIMMER/BRUSH CUTTER CG3

Item No.|Code No. Description No. Used Remarks
66380103 |COVER GUARD (EU) ASS"Y 1{INCLUD.67,68A
67|6684751 |TAPPING SCREW 4X14 1
68A|381414 |KNIFE 1

STANDARD ACCESSORIES

501|6684764 [BOX WRENCH (HEX. SOCKET 17/19)

502]6684813 |HEX. BAR WRENCH 4MM

*503[875769  [PROTECTIVE GLASSES EXCEPT FOR EURQOPE

5041380075 |POUCH CLOTH

505] 6684768 |CUTTER COVER

*506[330787  [SHOULDER BELT EXCEPT FOR EURQOPE

[ I L R T T

507|380117 |BLADE 3TX255XT1.8

* ALTERNATIVE PARTS



MODEL

CG36DC

Rev.3

22.11.2023




